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No. of Questions/s¥t =%t w=uar : 150
Time 12 Hows] - [Pl Marks : 450

T ; 25 W0 [qortss : 450

Note : (i) Attemptas many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for eack incorrect answer.
Zero mark will be awarded for each unattempted question.
wftrftrs Tl T TR T WS H | W4w T 3 () s |k
e AT I & w1 (T%) o ST AT | W% i T W

RS N |

(i#) If more than one alternative answers seem to be approximate to the
cortect answer, choose the closest one.

o Tt diErs I Al oW % P Tda o, o Freom wl W

1 _ .
1. Incomputer memory, 1 Gigabyte is equal o —— Megabytes.
()75 (2) 100
(3) 700 (4) 1024
2. Which of the following is not a search engine ?
(1) Google ' (2) MSN
(3) Yahoo (4) Facebook
3. Verification of a login name and password is known as :
(1) Configuratjon (2) Accessibility
(3) Authentication (4) Logging in
4. ROM stands for
(1) Write Only Memory (2} Read Only Memory
(3) Random Operation Memory (4) Read Operation Memory

(1) (Turn Over)
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5. TheRigveda contains
(1) Rituals to be adopted by people (2} Hymns in honour of the gods

(3) Yagnes to be performed (4) History of the vedic period
6. ﬁ%;%ﬁﬁ%@%%a%ﬂﬁﬁ%%ch of
(1) L6 | 2)20 -
(3)21A (4) 36LA
7. Who was governor-general when the 1857 revolt broke out ?
(1) Dalhoasie (2) Canning
(3} Curzon (4) Lawrence
8. ———was conferred the 2011 Jnanpith Award.
(1) Indira Goswamy (2} Pratibha Ray

{(3) Chandrashekhara Khambara (4) Amar Kant.

9. Give the carrect ascending chronological sequence of cvents : A. Swadeshi

mevement B. Nonh-cooperation movement C. Quit India movement D, Civil
Disobedience movement

{LJABCD (2)ABDC
(3}BACD -~ {4)DABC
10. The Indian Constitution was adopted on
(1) August 15,1947 (2) November 26,1949
{3) January 1,1950 {4) January 26,1950
(2) (Continued)
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11. Virender Sehwag set the world record for individual highest score against ——

(1) Pakistan (2) Kenya
(3) South Africa (4) West Indies
12. Who is the author of Zucknow Boy : A Memoir ?
(1) Atal Bebari Vajpayee . (2) Vinod Mehts
(3) Murali Manohar Joshi {4) Aroon Purie
13, The International Day of People with Disability is observed on

(1} December 3 {2) Iuly 11
(3) May 3 (4) None of these
k4. India planned to construct Kudankulam Nuclear Power Plant with the cooperation
of - .
{1HUK : (2)USA

(3) USSR (4) Australis. |
1. Which country has won the highest nuinber of Gold Medals in Olympics 20122
(1Y USA ' {2 Chira |
(3) Russia {4) South Korea

16. National Defence Academy is situated at

(1) Khadakwasla (2) New Delhi
(3) Visakhapainam (4) Dehadun
3y - (Turn Over)
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17— is the editor of the national daily "The Hindu' is

(1) CV Subramanyam {2) NRam

(3) NRavi (4) Sﬂtﬂmﬂhw :
ls.gethemf of economic drain of India during British imperialisen was propounded

(1) Jawaharlal Nehru ~ {2) Dadabhai Neoroji -

(3) R.C. Dust {(4) MK_ Gandhi

19, Where is sandalwood cammonly found 7 |
(1) Tropical evergreen forests (2) Alpine forests

(}]‘Trupiulscmblandarm {4) Tmpimldnciduwpfom_m |
20. The only State in India that produces saffron is -
(1) Assam (2) Himachal Pradesh
(3) Jammu & Kashmir © (4) Meghaleya |
11,11}:;:?:mfmajmmgemmmmmmmmmm
(1)15 220
(3) 22  (4) 28

22, The Lok Ssbha in existence as on 1% Jan 2014 was :

(1) 9th Lok Sabha (2) 10th Lok Sabha
(3) 14th Lok Sabha (4) 15th Lok Sabba
(4)  (Continued)
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23, The number of writs that can be prayed for and issued by the Supreme Court and/
or a High Court is

(1)3 I (2)4
(3)35 (4)6

24. Plants reccive their nutrients mainly from

(1} Chlorophyll (2) Light

(3} Atmosphere (4) Seil
zs.Deplcﬁqm ofthe Ozone Layer is caused by

(1) Chloroflurocarbons (2) Hydrogen

(3) Nitric Oxides (4) Methane

26. One of the most prominent crops of dry farming in India is

(1) Paddy | (2) Wheat
(3) Bajra (4) Cotton
27. Which gas caused the ‘Bhopal Gas Tragedy' in 19847
(1) Methy] isocyanate . (2)Nitrous oxide
(3) Carbon dioxide (4) Hydrogen

28, Which of the following is used in pencils 7

(1} Graphite (2) Charcoal
(3) Silicon {4) Phosphorous
: (5) (Turn Over) -
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29.Pulses are good sources of
(1) Vitamins (2) Cartiohydrates
(3) Protems (4} Futs

30.— js the Director of the film ‘Burf?

{1) Anurag Basu (2) Meera Nair
(3) Deepa Mehta (4) Siddharth Roy Kapoor
31 Where are tea and coffee both grown ?
(1) North-westem India (2) North-castern India.
(3)Centrallndia . (4) Southern India |
32, Who among the following wes associated with the paper Young india ?
(1) Bipin Chandra Pal (MK Gandhi-
(3) Annie Besant I (4) Subbash Chnndenu
33. Television was introduced in India in
(1) 1950 (2) 1953
3ese (4) 1975

34.'A thing of beauty is a joy fnrevar‘isalineﬁ'mnapouﬁby

(13 John Keats' (2) PB. Shelley
(3) William Wordsworth (4) John Milton
6) (Continued)
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35. Film and Television Institute of India is located in

(1) New Delhi | {2) Munbai
(3) Pune  (4) Chemnai
36. Falaknuma Express runs between |
(1) Secunderabad - New Delhi (2) Hyderabhad - Mumbsi
(3) Chennai - Hyderabad (4) Secunderabad - Howrah

37. Asper 2011 Census, the population of India was

(1) 120 crores (2) 121 crores

(3) 123 crores (4) 125 crores
38.BigFM mongm__mup.

(1) TAIA (2) Birla

(3) Infosis | (4) Reliance

39. Who among the following is not a recipient of Dadasaheb Phalke award ?

(1) Dilip Kumar (2} Late Mangeshkar
(3) S.P Balasubramanyam 4) D Rama Neids
40, Which of the following is not a fundamental right 7
(1) Right to Freedom (2) Right against Exploitation

(3} Right to Constitutional Remedies {4) Right to Property

{(7) {Turn Over)
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41. The second biggest Indian State in teema of population is

(1) Bihar (2) UttarPradesh
()Mabrashtra (4) West Bengal .
42. The National Institute of Rural Development is Jocated in
(1) Shirala @OPua
(3) New Deihi (4) Hydersbad
43, Karl Marx explained the proceas of class struggle through
(1) Historical dialectical materialism |
(2) Empirical liberalism
(3) Existentialiam
(4) Darwint theory of cvolution
44.Leaughing gas is | |
- {1) Nitric Oxide | (2) Nitrogen Peroxide -
(3) Nitrous Oxide | (4) Nitrogen Pentoxide
45.Buddha delivered his first sermon at
(1)Samath (2) Kapilavasta
()Senchi (4 Raigria
46, Which is the world's longest river 7
(1) Mississippi (2} Congo
(3) Amazon - '(mme
(8)

{Continued)
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47.Mohiniattam is performed in
(1) Tamil Nadu (2) Karnataka
(3) Kernla {4) Andhra Pradesh -
48. Davis Cyp' is associated with the game of :
(1) Tennis (2} Cricket
(3) Hockey 4) Bmcmg
49. Who among the following published Muknayak ?
(1) Jyoti Rao Phule (2) B.G. Tilak
" (3)Dr. B.R. Ambedkar

(4) Ram Manohar [ .chia
50. Which is the latest version of Windows operating system 7

(1) Windows 7 (2) Windows 8
(3} Windows [{ {4) Windows 12
Direction for ).Naa 51-35 ;: Study the following table carefully and answer the
questions given below :
, _ Loan Disbursement By § Banks
(Rupees in Crores)
Years
Banks | 2002 | 2003 [ 2004 | 2005 | 2006
[ A | 18 723 145 1730 | 70
B 27 33 18 4 | 37
C 2% 29 22 L7 i1
D | 31 16 28 | 32 43
E 13 19_2__7 1 34 42
Total | N8 | 120 | 140 | 154 ]l 203
{9} (Turn Over)
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51.In which year was the disbursement of loans of ail the banks put together jeast
mmpnedmthcmedisbmmmtoﬂmmmﬁwm? - ‘

(1)2002 (2) 2003
(3)2004 - - (4) 2005

£2.1n which year was the total disbursement of loans of the banks A and B exactly - |
equal to the total disbursement of banks D and E?

(1}2003 - {2) 2006
(3) 2004 | - (4) None of these

§3.In which of the following bunksd:dﬂw disbursement of loans continaously
mmnv:rthcym?

(1)B Q)¢
@)D o @) E

ﬂ.If&tmmnmngﬂmﬂ:tpmdmaymmN%nfmmdiﬂbum
nflums.howmmybmkamchadthulﬂrﬂtmm T

(1)1 @3
(3)2 (4) None of these

58, Inwhldubankmlmdmhumnmtmmﬂmnﬁ%uﬂhedhbumwtofaﬂ
banks together in 2006 2

ma . (2)B
3HC - ' (4) D
(19) (Continued)
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Direction for Q.Nos 56-60 : Study the follo table carefully and answer the
‘Questions given below : e ¥

Fimancial Statement of a Company Over the Years

(Rupees in Lakhs)
Year Gross ofit I ion| Net Profit{-
Tumover int. Rs
Rs And depr. |
2000-01 00 | 380.92 300.25 i 69.90 | 10.87
2001-02 | 1401.00 404,98 31540 71.12 18.46
0 1540.00 32003 | 30085 | 80.02 49.16
2003-04 | 21200 599 01 A4 88.88 83.69 |
- | 2004-05 | 252000 | S1L.00  |505.42 01.91 212,78
2005-06 2758.00 92000 |600.20 98 00 270.80 .

%6, During which year did the 'Net profit' exceeds Rs. | crore for the first time ?

(1) 2005-2006 (2) 2004-05

(3) 2003-04 {4) None of ﬂmse

57. m:mg which vear was the "gross turn over” clﬂsssi 1o thrice the 'pmﬁtl:eﬁm.-.
interest and depreciation’ ?
(1} 2005-06 (2) 2004-05

(3} 2003-2004 (4) 2002-01

88, During which of the given years did the 'Net profit from the highest pmport:un of
the' profit before interest and depreciation' ?

(1) 2003-04 (2) 2004-05
(3) 2002-2003 (4) 2001-02
(11} . (Turn Over)

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/296/29

59. Which of the following registered the lowest increase in terms of rupees from
the year 2004-2005 to the year 2005-2006 ?

(1) Gross turnover (2) Profit before interest and depreciation
(3) Depreciation ' (4) Interest

60, The "Gross turnover” for 2002-03 is about what percent of the "Gross turnover"
for 2004-05 7 -

(1) 61 (2) 163
(3) 0.611 ;| (4) 39

61. The angle between the minute hand and the hour hand of a clock when the time is
4.20,1s ! -

(1)s0® (2) 107

(3) 5¢ {4) 207

62, In & certain club, the ratio of the number of boys to giris ls §:3. What percent of
the club is girls ?

(1)37.5% - () 50%
(3)60% (4) 62.5%

63.Look at this series ; 22, 21, 23, 22, 24, 23.... Which number should come next 7

{1)22 (2) 24
(3)25 {4) 26
(12) (Cammw;)
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4. Find out which of the figures (1), (2), (3) and (4) can be formed from the picces
given in figure (X).

.
AD = Ve %
xX) () 1 M (@
(D1 (3)2
(3)3 4)4

65. Find out which of the figures (1), (2), {3) and (4) can be formed from the pieces

[N

given in figure (X).

7T

(X)

(1)1 | ) 2
(3)3 (4) 4

66. Devanand saves Bs. 2 on [* February in the year 1988. Rs. 4 on 2% F:?bnnry,
Rs.6 on 3% February, Rs B on 4% February and so on. If Devanand continues to
save this way, how much money will be saved by him at the end of the month.

(Note. 1988 was a leap year)

(1)870 (2) 812
3)784 (4) 840
(13) {(Turn Over)
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67.2/3" of 3/5% of 4/5* of ? =112
(1) 3575 (2) 3475
(3) 3215 (4) 3425

68. Sumit invests Rs, 4762 which is 25% of his monthly income, in insurance
policies, What is his monthly income ? . Y

() Rs. 28572 (2} Rs. 23810

{(3)Rs.19048 (4) Rs.14285
69, 49% 64 = (7Y

(1) 54 (2) 56

(3) 52 (4) 63

’.’ﬂl;;r:ithe average of the following set of scores 746, 1020, 321, 12, 63, 428, 226,

(1)367.5 @3
{(3)360 (4) 368,75

71.5¢ema obtained 674 marksout of total 750 marks. What approximate percentage
did she obtain in the examination ?

(1) 79 (2) 90
(3) 81 | (4) 85
72.48% of 112-? % of 88 =454 |
(1)9.5 (2) 4.2
(3)11.4  (4) None of these
(14) (Continued)
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73. A car covers a distance of 576 kams in 12 hours. What is the speed of the car per
- hour? _

(1) 44 @54
(346 ' - @

74. 'Ihemstufliﬁmmvmmd 12 mokﬁrsts 84,126, Wlntmt!wnustofﬁ
mwmwavesmdzcookm?

(1) Rs. 15291 ' (2) Rs, 16131
(3} Rs. 14021 (4) Rs. 15021

75, What would be the simple interest obtained on an amount of Rs. 4540 at the rate
of 8%, per annum after 8 years ?

(1)}Rs. 2890.8 (2) Rs. 29056
" (3}Rs. 28254 (4) Rs. 2748.2

Tﬁ.Anamﬂmmqwmdumnapplﬁfwmmdayammmdnmnpplﬁmﬂn
require for 64 days ?

(1)184 : (2) 152
(3) 192 - (4) 164

1. Thesumufﬂlepmmﬂgcsnﬂtnm, Syam, and Deva is 72 years. Also the sum of
pmsmtagwnf&ammdﬁymm@ym What is the present age of Deva ?

(1) 30 years . {2) 24 years
{3) 18 years _ {4) 36 vears

(15) (Thrn Over)
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8. 3%+ 2R x4 K +1Y =1
(1) 7 @) 4K
3y 4) 8

79, The difference between the circumference 1o two <ircles is 132 cms, and the
radius of smaller circle is 14 cms. What is the radius of larger circle ?

(1340 cms (2) 30 cons
{(3}35 cms (¢) Nome of these
S&Ashopkmpmuhamdzmmdbsfmks 10 each. However, § bulbs were spoiled

and had to be thrown away. H:semmsmmgumumwmmuwh:
percentage of profit ? -

(1)25 ()15

(3)13 {4) 17
B1.25, 34, 52,79, 115, ?

{1 160 . (2) 140

{3) 153 B | (4) 190

82. Anum contains 9 blus, 7 white & 4 black balls. Iftwo balls ars drawn st random,
what is the probability of one ball being white ?

(1)71/190 - (2) 2217190
(3)91/190 | (4) 93/190
(16} |  (Continued)
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83. Ajay spends 25% of his salary on house rent, 5% on food, 15% on travel, 10% on
cloths, and saves remaining amount of Rs. 27000, What is Ajay's income 7

(1) Rs.60,000 (2) Rs.80,500

(3)Rs.60.700 (4) Rs. 70,500
B4, A=

(1) 88 B 2) 62

(3) 78 | (4) None of these

88.1n a line of students, Sanjay is in 10th place from left and Amikar is in the 15th
place from right. When they both interchanged their positions then Sanjay is 20th
from left, What is the total number of sudents in 2 line ?

(135 T ()36 |
(3) 34 ' (4) can't determined

86.1€ 13 men can complete a pisce of work in 36 days, 18 men can complete the
same work in -

(1) 16-days (2) 20 days
(3) 26 days | (4) 30 days
§7.1f the area of a-circle is 75.46 cm?; what is the circumference of the circle ?

(1)25.2 cms - : (2) 28.9 cms
(3)40.2 cms : {4) None of these,
(17) {Tirn Over)
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88.64% of 2650+ 40% of 320 =
(1) 1902 (2) 1829
(3) 1824 (4} 1964 |
89. A started a business by investing Rs. 45,000. After 3 months B joined him with 2
capital of Rs. 60,000. After another 6 months, C joined them with a capital of
Rs. 90,000. At the end of the year they made a profit of Ra. 16,500, What is A's
share of profit ?
(1) Rs. 6600 (2) Rs. 5500
(3)Rs.6000 ** {4) Rs. 5900

90. What would be the comipound interest obtained on an amount of Rs. 6000 at the
rate of 7% per antum for 2 years 7

(1) Rs. 8694 (2) Ra. 767.50
{3)Rs. B60.4 (4) None of these

91.In the following series how many 9's are there which ars nei prwadndl
not followedby 37 neither i

9386995937891939639
(2 | 2)4
@1 - (4) 3
92.1f 40% of mnumber is 256, whatis 25% of that number ?

(1) 150 (2) 160
(3)210 - (4) None of these
(18) (Continued)
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93, 632+25+(2Y =61.28
(1)36 (2) 32
(3y25 4)6

94. Radha read 3/8 of a book on cne day and 4/5 of the remainder another day. If there
are now 3( pages unread. How many pages did Radha read on second day ?

(1) 130 (2) 140

(3)125 (4) None of these
95.5/12 of 56% of 750=7

(1) 160 (2) 155

(3) 165 {4) i75

96.1n the sequence below, which figure is different one from the pattern ?
13,15,17, 19,23, 29 ‘

(1)17 - @215
(3)23 (4) 29 | )
97, "Wall" is refated to "Brick” in the same way as book is related to
(1) Page (2) Binding |
(3)Novel (4) Story |
98, In a certain code AEROBIC is written as BFQNATD how is ADVERTS written in
that code ? A
(1) BEQUDUT (2) BUEDQUT
(3) BEUDQUT (4) BELQDUT -
(19} (Turn Over)

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/296/29

99, Stntements :

Some trees are flowers.

All flowers are buds.

All buds are fruits.
Conclusions
l. some fruits are trees.
2. some fruits are flowers.

(%) only conclusion one foltows

(2) only conclusion two follows

(3) neither conclusion one nor twa follows
(4) both conclusion one and two follows

100. If P denotes " divided by”, R' denotes "added to”, T denotes "subtractsd from®,
V" denotes "multiplied by" then " \

12V 4R 16P 8T§
(1) 138 () 44
(3) 50 i (4) 72

Directions for Q.Nes, 101-108 : Read the passage given below and answer the
questions based on it. |

ltlsﬁequepﬂyassumedthntthemwhmﬁm&mufwmthu & revolutionary
effect on the lives of the people who operate the new machines and on the society
into which the machines have been introduced. For example, it has been suggested
that the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter fictories, Jules Bimon, a French
potitician, warned that by doing 5o, wamen would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the "social, legal,
2nd economic subordination” of the family by technological developments that

(20) (Continued)
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made possible the recruitment of "the whole female sex ...into fpublic industry",
Observers thus differed concerning the social desirability of mechanization's
effects, but they agreed that it would transform women's lives.

Historians, particularly those imrasﬁgaﬁnﬁ the history of women, now

seriously question this assumption of g power. conclude that

such dramatic technological innovations as the spinning jenny, the sewing

machine, the ter, and the vacuum cleaner bave not resulted in equally

dramatic social changes in women's economic position or in the prevailin

evaluation of women’s wurk.'[hemrlnymmtn young women in textile mills
as

during the Industrial Revolution w. an exiension of an older pattem of
' mﬂm of young, single women as ics. It was not the change in office
ogy, but rather the separation of secretarial work, previously seen as an

apprenticeship for managers, from administrative work that in the 1880's
- greated a new nlu:m end " jobs, thenceforth considered "women's work."

The increase in the numbers of mamied women employed,

101. Which of the following statements best summarizes the main idea of the
passage?

(1) The effects of the mechanization of wornen's work have not borne out the
frequently held assumption that new technology is inherently revolutionary.

{2) Recent studies have shown that mechanization revolutionizes a society's
traditional values and the customary roles of its members.

(3) Mechanization has caused the nature of women's work to change since the
Industrial Revolytion.

(4) The mechanization of work creates whole new classes of jobs that did not
previously exist. : - ' |

102. In the nineteenth century, when women began to enter in the factories there
were different reactions, but there was an agreement that

(1) Mechanization of work will not have any impact on the lives of women.
(2) Mechanization of work will have very limited impact an the lives of women.
(3) Mechanization will deteriorate the lives of women.

(4) Mechanization woutld transform women's lives.
(21) (Furn Over)
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103, Jules Simon's argument implies that
(1) If women give uptheirfmnininip'; equality can be achieved in the society.
(2) Women will excel in all the fields.
(3)MMummmmmmmmdwmmmnbc affected.
' (4) Women will not give bizth to children.
104, lnmepassage Fnemwﬁngel'spmdicnmunplmm
(1)mmmmhmmmmulatmh|pinmefnmmrmnhm

(2) Women will be empowered and socially, economi and legally they will
be independent and free from subordination, el wally they

(3) Women can contribute to improve the financial condition of family.
(4) Women will not have to care men,

105, The author medtions ail of the follawinginvmumummpluofdnmnm
techmlogma!mnﬂvmomEXCEPTtha .

(1) Textile mills (2) Vacyumcleaner
(3) Teiephone (4) Typenﬁtﬂ'

m;camqu.ﬁu.m-no : Select the word nearest in meaning to the given
wh

106. Embezzie
(1) Misappropriste (2) Remunerate
(3) Balance (4) Clear

(2y {Continyed)
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107. Stringenit
(1) Dry
(3) Strained
108, Trait:
(1) Habit
(3) Characteristic
109, Foray .
(1) Maraud
- (3)Contest
114. Feeble ;
(1) Weak
(3) Vam

14P/2508/29
{2) Rigorous
{4) Shrill

{2) Colour
(4) Symbol

{2) Ranger
(4) Intuition

{2) Amogant
(4) Sick

Directions for Q.Nos. 111-115 ; Select the word opposite in meaning to the given
word : J

111. Relinguish:
(1) Deny
(3) Abdicate
112. Nefarious :
(1) Heinous
{3) WEum

(2) Possess
(4) Rencunce

| (2} Infamous
(4) Honest

{(23) 1 (Trn Over)
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11, Precipitate :
(1) Accelerate
(3)}Retard

114. Cuilpable :

(1) Defendable
(3) Careless

113. Ameliorate ;
(1)Make slow
{3)Make sure

(2) Crystallize
(4? Impetuous

(2) Blameless
{4) Irresponsible

(2) Makeworse
(4) Make able

Directions for Q.Nos. 116-120 : Choase the correct meaning of the given

idiomatic expressions ;
116, Back up :

(1)Withdraw from

(3}Pack up
117. Beat about the bush

{1} Command

(3) Saying without clarity
118. Do away with :

{1)Finish

{3) Sexud

(2) Return
(4) Support

(2) Urge
{4) Speaking with loud voice

(2) Abolish
(4) Sleep

(24)

{Continued)
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119, Callon:

()Sommon (2) Invite

(3) Visit ) (4) None of these
120, Eke out : |

(1)Remove . @ Pw

()Eam (4) Spit

Directions for Q.Nos. 121-128 ; Choose the words with correct spelling :

121, () Remissance (2) Renaisance
(3) Rensissence (4) Rensisence
122, (1) Decive . (2} Deceive
(Deeve (4 Deceave
123. (1) Surveyar - @) Surveyw
{3) Surveyar (4) Suveyar
124, (1) Maneuves (2) Manueuvre
* (3) Manouvre {4)m
128 (umanj;-.r m Passenger
(3)Passanger (4) Passenjar
' (25) (Turn Over)
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Directions for Q.Noa. 126-130 : Fill in the blanks with the correct option :

126. Laxman was given a good when he left for London,
(1) Take off | (2) Send off
(3) Brush off (4) Break off
127. The failing of the enemy helped to shorten the war.
(1) Hold ' (2) Discipline
(3) Moral (4) Morale
I28. ——— attending the cntlega,Ravia]sutakescamofhislypeinuimu.
(1) Beside (2) By
(3) Besides (4) Though
129. Inspi:nuftakm;ummstmre,hewu_—ﬂan.ﬁpﬂlﬁm
(1) [nvited {(2) Wamned
(3)Fooled (4) Threatened
130, He that there was mistake on bis part.
(1) Discoversd 2) Invented *
(3) Explored (4) Realised

Directions for QN o : Fill
i Jor Q us.l!llss.Fdlmmeblmknwiﬁnhemutpnpoui-

131. Rajesh has been residing inAllahabad —— the Jast 10 years.

(1) From (2) Since
(3) For | (4) On
(36) : {Continued)
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132. She expressed her anger when the conversation led to a quarre] ———— she and

her friend.
(1) Among (2) With
(3)By (4) Between
133. gﬁw apprised him the latest develommm in the company
(1)On (2) Of
(3) Abottt (4) Off
134, He published the book a few months of his retirement,
()Afer 2}
(3) Within - (4) About
138, Lakshmi is suffering Malaria.
(1) With (2) From
(3) Under - . (mof

Directions for Q.Nos. 136-140 : There are four underlined parts in each
sentence given below. One of the inderlined parts has an error. Identify the
error in each sentence by substituting the alternative given with each option.

136. He has been studying in the school since last four years without any gap

(1) had been {2) at
(3)for (4} withno
{27) | (Ternm Over)
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137, She help peaple who are poor and suffering from various diseases.

(1) helps g (2) is
(3) with (4) sickness
138. They have been asked 1o take the decision from the spot
(1) had been (2) for
(3)a (4) on
139. If you really want to be helpful, then you had ta toll me the trwth.
(1) when (2) wants |
(3) than (4) haveto
140. Some villages in the coastal areas gre out of from gll communication
(1)at . (2) were
(3) off (4} my

Directions for Q.Nos, 141-145 : From the given options, choose the ene which
can be substituted for the given group of words.

141. Abil

(28) (Continued)
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(1) Plaintiff (2) Defersdant
(3) Approver . (4) Witness
145. Belief in many Clods :
(1) Atheism (2) Monotheism )
(YPolytheism (4) Secularism

' for Q.Nos, 146-150 : Select the correct passive form of the given

146. Americans have built a perfect dam across the river. |
(1) Acrass the river a perfect dam was built.
{2 &pm'facttiamhas bmhuiitbyihm:rimsm the river.
~ {3) A perfect dam should have been built byAmericaps.
(4) Americans wm built 8 perfect dam across the river,

| (29}. {Tign COver)
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147. The government will pay revised salaries from next month.

(1) Revised salaries will be paid by the Government from next month.

{2) From next month the Government will pay revised salaries.

{3) Payment of revised salaries by the Government will start from pext month.

(4) Revised salaries will be paid from next month.
148. They were not vacating the house,
(1) The house was not been vacated by them.
(2) The house were not be vacated by them.
(3) The house was not vacated by them. ‘
{4) The house was not being vacated by them.
149, India wins World Cup this year.
(1) World cup is won by India this year.
(Z) World cup is being won by India this year.
(3}World cup was won by India this year.
{4) Worid cup is going to be won by India this year.
150. She will bﬁng up the chilﬁ with praper care.
(1) The child will be brought up by her with proper care.
(2) The child may be brought up by her with proper care.
(3) The child will be bring up with proper care by her.
(4} The child will have been brought up with proper care by her.

{30}

B—400
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